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Pensieve header: The full list of w equations with the unitary V.

SetDirectory["C \\drorbn\\ Acadeni cPensi eve\\ 2012-05\\ bet a5. 1" ];
<< betaCal cul us. m
Cl ear [A]; Unprotect [C];
$Per t ur bati veDegr ee = 6;
BSimplify[expr_1:= Replacel
Series[Nornal [expr], {&, 0, $PerturbativeDegree}],
sd_SeriesData =» MapAt [Expand, sd, 3]
1
BCol l ect [Blw , w11 := B[BSinmplify[w], BSinplify[u]];
{V, C, sol} = Get [Switch[$PerturbativeDegree,
4, "Sol utionToDegree4-120523. nt',
6, "Sol utionToDegree6-120523. nf',
8, "Sol utionToDegree8-120524. nt'

115
C=C/. k1> 0;
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&= (Inverse[V] // dP[12, 3]) **Inverse[V] = (V // dP[2, 3]) »%x (V // dP[1, 23]);

) Sinh[c, A/ 2] )
v = B[Serles[—, {n, O, $Perturbat|veDegree}], O];

cih/2
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Del et eCases[{

"Test" - XXX =YYy,
"R4" o R[2, 3] ** R[1, 3] »*V =V« (R[1, 3] // da[1, 1, 2]),
"Twi st EQ" -» V*x©[1, 2] == R[1, 2] »%= (V // dP[2, 1]),
"Unitarity" -» V= (V // dA[1l] // dA[2]) == B[1, 0],
"Vertical Fli pForV" = V& (V // dS[1] // dS[2]) = R[1, 2],
"CapEquation" -» (V%% (C // dP[12]) // dcap[l] // dcap[2]) ==

(Cx (C // dP[2]) // dcap[l] // dcap[2]),
"VSi desDel ete" » (V // dn[l]) =B[1, 0] && (V // dn[2]) =B[1, 0],
"CapsAndCups" -» C == (C// dS[1]),
"Pentagon" - & % (& // dP[1l, 23, 4]) =% (8 // dP[2, 3, 4]) =

(8 // dP[12, 3, 4]) == (&8 // dP[1, 2, 34]),
"PositiveHexagon" - (e[1, 2, +1] // dP[12, 3]) ==

(8*x%0[2, 3, +1] »xInverse[& // dP[1, 3, 2]] *xe[1, 3, +1] *x (& // dP[3, 1, 2])),
"Negat i veHexagon" - (e[1, 2, -1] // dP[12, 3]) ==

(8*%x0[2, 3, -1] »xlnverse[& // dP[1, 3, 2]] *+x®©[1, 3, -1] % (&8 // dP[3, 1, 2])),
"Hori zontal Fl i pFora" - &*%x (&8 // dP[3, 2, 1]) = B[1, 0],
“Vertical FlipFora" - & »%x (&2 // dS[1] // dS[2] // dS[3]) = B[1, 0],
"Over handEquati on" -

(2 // da[l1, 0, 11 // dS[2] // dS[3] // dm[0O, 3, O] // dm[1, 2, 1]) = B[1, 0],
"ValueOr v"* » (@ // dS[2] // dm[3, 2, 2] // dm[2, 1, 1]) = v,
"Val ueO C'" -» Inverse[C*xCx*CxxC] = v,
"VTopDel ete" -

(V 7/ dS[2] // dm[1, 2, 1]) = Inverse[Cx%C] =% (R[1, 1, -1/2] // dS[1]),
"EKTopCapLeftPuncture" -» (V // tn[l] // dS[2] // hm[1, 2, 1]) = B[1, O],
"EKRi ght CupLeftPuncture" -» (V // hn[2] // tn[l] // dm[1, 2, 1]) == B[1, O],
"EKRi ght CupTopPuncture" -

(V 7/ hnl21 /7 dS[1] /7 dm[2, 1, 1]) = Inverse[CxxC],
"EKTopCapRi ght Puncture" -» (V // tn[2] // dS[1] // dm[2, 1, 1]) =R[1, 1, -1/2],
"EKLeft CupRi ght Puncture" -» (V // hn[l] // tn[2] // dm[2, 1, 1]) = R[1, 1, 1/2],
"EKLeft CupTopPuncture" -» (V // hn[l] // dS[2] // dm[l, 2, 1]) ==

Inverse[(R[1, 1, 1/2] // dS[1]) ** CxxC];
"Buckl eEquati on" - (

buckl e = (I nverse[&] // dP[13, 2, 4]) **

(8 // dP[1, 3, 2]) **©[3, 2] *x |l nverse[&] »x (& // dP[12, 3, 4]);
LuckyV = buckle // tn[l] // hn[2] // dm[l, 2, 11 // tn[3] // hn[4] //
am[3, 4, 27;
V == LuckyV x* I nverse[C (C// dP[2])] *»* (C// dP[12])
)
}, _ - True]

{Test - XXX ==yyy}

{V // dcap[l1l] // tn[2],
V // dcap[2] // tn[l1} // Col umForm
1 h[2]
t[l] %+%+%C§hz+ﬁc§h3+°%
(1)

n* ci n® . c§ n
3840 46080 = 645120

+0[n]7
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